MPM1DI
Summative Assessment Review - Day 2 Chapters 4 & 5 (Units 3 & 5)

© Unit 3 - Equations (chapter 4 in text) [NUMBER SENSE & ALGEBRA STRAND]
- Ratios, rates and percent - Set up equations from word problems
- Solve equations (including equations with fractions) - Rearrange equations

Example 1: Solve.

a) 3:5=80:x b) =g c) 18% of $90

L I

d) In one gallon of paint, there are 3 drops of red and 20 drops of yellow colouring. If a 5 gallon pail
of paint is mixed, how many drops of each colour would need to be added to create the same

colour tone?

e) The ratio of teachers to students in a school is 2 to 45. How many teachers are in the school if
there is a total of 1410 students and teachers altogether in the school?

Example 2: Solve
a) 5x+8=3x+2 b) %+4:3 c) 3(2x—4)=9x +3

) %_k+3=8_k+2
2 3 4

d) X+2 _x-1check your answer e
2 5
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Example 3: (Rearranging equations)
The formula for the perimeter of a rectangle is P = 2L + 2W, where L is the length and W is the width

of the rectangle. Which is the formula for the length?

L
a. 2P—2W=L c. P—2W=L
2 2

© Unit5: Modelling with Graphs (chapter 5 in text) [ANALYTIC GEOMETRY STRAND]

> Direct/Partial Variation
© Direct Variation: y = mx initial value is 0
© Partial Variation: y = mx + b initial value is NOT 0

» First Difference Tables
> Slope © constant of variation
© rate of change or unit rate

rise — A
m=—— ©em=Y:"" om=2Y
run X, — X, AX

Example 4: Identify each of the following as direct variation, partial variation or neither

R N AN

Example 5:
The table is for a linear relation. Unfortunately, one error was made in copying the table. Find the

error and copy the table with the correction.

X Y X Y
2 -5
-4 0
-7 4 G' 6
-10 7 s 4
Example 6: /
C

Examine the set of line segments.

H
D
///B
< I A I -
a) Name the line segment that has the steepest negative slope. -# -2 0lK 2 | 4 X
E \
L
F

Express the slope in decimal form. 2
L]
I X

b) What is the slope of:
CD?

1? GH?
Y
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Example 7:
What is the slope of the line segment joining the points P(0, 7) and B(-2, —4)?

Example 8:
The Pronghorn antelope is the fastest North American mammal. It can run 200 m in about 7.5 s. What

is the average speed of this antelope? (speed is a rate of change — this is a slope and slope as a rate of
change is the same as a unit rate.)

average speed =

=~ m/s
The average speed of the antelope is about m/s.

Example 9:

The distance-time graph shows Tracy’s motion in front of a motion sensor.
dh Tracy’s Walk a) Identify the d-intercept and
5- explain what it means.

Distance (m)

1 b) Identify the t-intercept and

0 12345678910 t explain what it means.
Time (s)

Do:

Old EQAO Ratio & Proportion Questions
Page 356 # 1 —6 (ch 4)

Page 232#1 -6 (ch. 4)

Pages 356-357 #7 — 11 (ch. 5)

Pages 290 —-291 # 1 — 10 (ch. 5)

Re-do Units 3 and 5 tests.
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Old EQAO Ratio & Proportion Questions

1. Consider the proportion, Z = 2%. What is the value of a in the proportion.
a6 b 8 c 18 d 72

2. Asmall case of pop, with 12 cans, costs $3.96. A large case has 18 cans. The cost per can in the large case is
$0.02 less than in the small case.
What is the cost of a large case?
a $3.60 b $3.72 c $5.58 d $5.94

3. Which of the following ratios is equivalent to 2:5?
A 5:2 b 2:7 c 14:35 d 22:25

4. In an election for student council president, 480 students vote.
Jade receives 55% of the votes. Erika receives the rest of the votes.
How many votes does Erika receive?
a 216 b 264 c 425 d 435

5. Road Trip!
Paul drives from home to his friend’s house and then back home.
e The distance from Paul’s home to his friend’s house is about 720 km.
e On average Paul’s car uses 6.8 L of gas for every 100 km.
e Gas costs 96.5 cents a litre.
How much does Paul pay in total for gas to his friend’s house and back home?
Show your work.

6. Inthe first year of a fundraising campaign, donations are collected at a rate of $700 each day for 8 days.
In the second year, the daily rate doubles and the campaign is 3 days longer.
How much money is raised in the second year?
a $4200 b $7700 c $11200 d $15400

7. Billy has 3 apples and 4 oranges. Which of the following has a ratio of apples to oranges equivalent to Billy’s?
a 3 apples and 8 oranges b 4 apples and 3 oranges
¢ 8apples and 6 oranges d 9 apples and 12 oranges

8. The ratio of the width to the height of a television screen is 16:9.
If the height of the screen is 52 cm, which is closest to the width?
a 92cm b 87cm ¢ 59cm d 29cm

9. Each year, a school sends 50 students to a conference. Last year, the cost was $12.50 per student. This year, the
cost per student has increased by 16%. What is the total cost to send 50 students to the conference this year?
a $625 b $633 c $725 d $841

10. Orange-Gi
Gina is buying 24 oranges.
Two stores offer the following deals:
Store A: 12 oranges for $6.48 Store B: 5 oranges for $2.65
Gina can buy oranges individually. How much will Gina save if she buys 24 oranges at Store B?
Show your work.
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11. Student Work Cam, Beth and Amrit are paid at
an hourly rate for their time worked. The graph
below shows the amount paid and the time
worked for these three students.

Pay vs. Amount of Time Worked
I)
80} +Cam
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e
& 4 +Beth +Amnit
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t
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Amount of time worked (h)

Determine which student is paid the highest hourly
rate. Justify your answer.

The student who is paid the highest hourly rate

is

13. Mia delivers the local newspaper. Her base pay is
S5 per week, and she gets $0.25 per paper.

. Pay vs. Numbaer of Papers Deliverad

>~ n

¢ 10 20 0V & S0 60 0 0 W

Number of papers dekverad

Which of the points on the graph represents Mia’s
pay for delivering 25 newspapers in a week?

a) PointR

b) Point$S

c) PointT

d) PointU

. 12. Information about the volume of a particular gas
and

its temperature is shown on the graph.
Volume vs. Temperature

- R
-

Volume (L)
0

14+
P

-
| L
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Whish of the following is true about the information
represented in this graph?
a The volume of the gas is less at R than at P
b The volume of the gas is greater at Q than at R.
¢ The temperature of the gas is lower at P than
at Q.
d The temperature of the gas is higher at Q than
atR.
14. Yves records the time of day that a street light
turns off for 9 mornings over 28 days. The graph
shows his data from the first day of the month.

Time vs. Day
T
-
T30 am.
7:00 am. d
L] ’c
E 0:30 am.
0:00 am. -
> d
0 7 14 21 8
Day

Which statement describes the relation above?

a) The later in the month, the later the street
light turns off.
The later in the month, the earlier the street
light turns off.
The earlier in the month, the earlier the
street light turns off.
There is no relationship between the day and
the time the street light turns off.

b)
c)

d)



